Orbit Seat Option
Seat Rail, Lower Seat Plate Assembly

VT4
\,/
@\
AN
AN
AN
.
> A
= L N \ —
e O S e Q)
2% / N



Orbit Seat Option

Seat Rail, Lower Seat Plate Assembly

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A | 8881083060-NL | NLA - Frame, Seat, Rail, Color 1 2
A
2 1029501 Plug Button, Black (1") 1 4
3 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 4
4 1037291-NLA | NLA - Tube, Spacer, Black 1 2
5 1083130-NLA | NLA - Plate, Lower Seat 1 1
6 1055332-NLA | NLA - Screw, Socket Flat Head (1/4 -28 x 1-3/4") 1 4
7 1085036-NLA | NLA - Pin and Lanyard Assembly 1 1
8 1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
9 1037285-NLA | NLA - Tube, Slide, Seat Frame, Black 1 2
10 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 4
11 1036434-NLA | NLA - Spacer (5/16 x 7/8 x 3/16") 1 2
12 1030957-NLA | NLA - Screw, Shoulder Hex Socket Head (1/4 x 1 2
1-3/4", #10-24)
13 1026033 Washer, Nylon (1/4 x 1/2 x 1/16") 1 2
14 1026034-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 2
15 1026035-NLA | NLA - Locknut (#10-24) 1 2
16 1008432 Screw, Socket Button Head (1/4-20 x 1-1/4") 1 4
17 7930345 Locknut (1/4-28) 25 4
18 1002104-NLA | NLA - Washer, Flat (1/4 x 1/2 x 1/16") 1 4
19 B,C 1083064-NLA | NLA - Hardware, Seat Mounting 1 1

NOTE: A - Specify frame color when ordering
B - When converting to an Orbit seat, item 1 must be ordered as well.
C - Includes items 2-18




